Validate		Print		Help	Percentage BoQ
----------	--	-------	--	------	----------------

Tender Inviting Authority: Staff Officer Civil Piparwar Area.

Name of Work: Repair of PNB building at bachra township under GM Unit, Piparwar Area.

	Category of Services (To Be Selected by Department)		To Be Entered by Department		
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company:		Select	18.00	0.00	0.00

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	t	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1.01	Dismantling old plaster or skirting raking out joints and cleaning the surface for plasterincludingdisposalofrubbishtothedumpinggroundwithin50metres lead. 12 mm cement plaster of mix :1:6 (1 cement: 6 fine sand)	447.944	sqm	249.70		INR One Lakh Eleven Thousand Eight Hundred & Fifty One and Paise Sixty Two Only
1.02	6 mm cement plaster of mix : 1:3 (1 cement : 3 fine sand)	69.870	sqm	195.85		INR Thirteen Thousand Six Hundred & Eighty Four and Paise Four Only
1.03	Wallpaintingwithpremiumacrylicemulsionpaintofinteriorgrade,having VOC(VolatileOrganicCompound)contentlessthan50grams/litreof approvedbrandandmanufacture,includingapplyingadditionalcoatswherever required to achieve even shade and colour. Two coats	734.380	sqm	89.25		INR Sixty Five Thousand Five Hundred & Forty Three and Paise Forty One Only
1.04	Providingandapplyingwhitecementbasedputtyofaveragethickness1mm, ofapprovedbrandandmanufacturer,overtheplasteredwallsurfaceto prepare the surface even and smooth complete.	517.820	sqm	98.45		INR Fifty Thousand Nine Hundred & Seventy Nine and Paise Thirty Eight Only
1.05	ProvidingandfixingISImarkedflushdoorshuttersconformingtoIS:2202 (PartI)decorativetype,coreofblockboardconstructionwithframeof1st classhardwoodandwellmatchedteak3plyveneeringwithverticalgrainsor cross bands and face veneers on both faces of shutters. 35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws	8.820	sqm	2621.05		INR Twenty Three Thousand One Hundred & Seventeen and Paise Sixty Six Only

1.06	ProvidingandlayingVitrifiedtilesindifferentsizes(thicknesstobespecified bymanufacturer), withwaterabsorptionless than 0.08% and conforming to	30.750	sqm	1221.20	37551.90	INR Thirty Seven Thousand Five Hundred & Fifty One and Paise Ninety Only
	I.S.15622,ofaprovedmake,inallcolours&shade,inskirting,riserofsteps, over12mmthickbedofcementmortar1:3(1cement:3coarsesand), jointingwithgreycementslurry@3.3kg/sqmincludinggroutingthejoint with white cement & matching pigments etc. complete. Size of Tile 600x600 mm					They one and taise which only
1.07	Providingandlayingvitrifiedfloortilesindifferentsizes(thicknesstobe specifiedbythemanufacturer)withwaterabsorptionlessthan0.08%and conformingtolS:15622,ofapprovedmake,inallcoloursandshades,laidon 20mmthickcementmortar1:4(1cement:4coarsesand),jointingwithgrey cementslurry@3.3kg/sqmincludinggroutingthejointswithwhitecement and matching pigments etc., complete. Size of Tile 600x600 mm	9.780	sqm	1180.40	11544.31	INR Eleven Thousand Five Hundred & Forty Four and Paise Thirty One Only
1.08	Providing and fixing to existing door frames. 24mmthickfactorymadePVCdoorshuttersmadeofstylesandrailsofa uPVChollowsectionofsize59x24mmandwallthickness2mm(±0.2mm) withinbuiltedgingonbothsides.Thestylesandrailsmitredandjointatthe cornersbymeansofM.S.galvanised/plasticbracketsofsize75x220mm havingwallthickness1.0mmandstainlesssteelscrews.Thestylesofthe shutterreinforcedbyinsertinggalvanisedM.S.tubeofsize20x20mmand1 mm(±0.1mm)wallthickness.Thelockrailmadeupof'H'section,auPVC hollowsectionofsize100x24mmand2mm(±0.2mm)wallthickness,fixed totheshutterstylesbymeansofplastic/galvanisedM.S.'U'cleats.Theshutter framefilledwithauPVCmulti-chamberedsinglepanelofsizenotlessthan620 mm,havingoverallthicknessof20mmand1mm(±0.1mm)wallthickness. Thepanelsfilledverticallyandtiebarattwoplacesbyinsertinghorizontally6 mmgalvanisedM.S.rodandfastenedwithnutsandwashers,completeasper manufacturer'sspecificationanddirectionofEngineer-in-charge.(ForW.C.and bathroom door shutter).	6.000	sqm	1515.45	9092.70	INR Nine Thousand &Ninety Two and Paise Seventy Only
1.09	ProvidingandfixingfactorymadeuPVCdoorframemadeofuPVCextruded sectionshavinganoveralldimensionasbelow(tolerance±1mm),withwall thickness2.0mm(±0.2mm),cornersofthedoorframetobeJointedwith galvanizedbracketsandstainlesssteelscrews,jointsmitredandPlastic welded.ThehingesideverticaloftheframesreinforcedbygalvanizedM.S. tubeofsize19X19mmand1mm(±0.1mm)wallthicknessand3nos. stainlesssteelhingesfixedtotheframecompleteaspermanufacturer's specification and direction of Engineer-in-charge .Extruded section profile size 48x40 mm	19.000	sqm	194.90	3703.10	INR Three Thousand Seven Hundred & Three and Paise Ten Only
1.10	ProvidingandfixingwashbasinwithC.l.brackets,15mmC.P.brasspillar taps,32mmC.P.brasswasteofstandardpattern,includingpaintingoffittings and brackets, cutting and making good the wallswherever require: WhiteVitreousChinaWashbasinsize630x450mmwithapairof15mmC.P. brass pillar taps	4.000	Nos.	1975.00	7900.00	INR Seven Thousand Nine Hundred Only
1.11	ProvidingandfixingStainlessSteelAISI304(18/8)kitchensinkasper IS:13983withC.I.bracketsandstainlesssteelplug40mm,includingpainting of fittings and brackets, cutting and making goodthe walls wherever required: Kitchen sink with drain board 1510x1040 mm bowl depth 250 mmeach	1.000	Nos.	5051.30	5051.30	INR Five Thousand &Fifty One and Paise Thirty Only

1.12	Providingandfixingwaterclosetsquattingpan(IndiantypeW.C.pan)with 100mmsandcastIronPorStrap,10litrelowlevelwhiteP.V.C.flushing cistern,includingflushpipe,withmanuallycontrolleddevice(handlelever) conformingtoIS:7231,withallfittingsandfixturescomplete,including cutting and making good the walls andfloors wherever required:WhiteVitreouschinaOrissapatternW.C.panofsize580x440mmwithintegral type foot rests	1.000	Nos.	4774.45	INR Four Thousand Seven Hundred & Seventy Four and Paise Forty Five Only
1.13	Providingandfixingwhitevitreouschinapedestaltypewatercloset(European typeW.C.pan)withseatandlid,10litrelowlevelwhiteP.V.C.flushingcistern, includingflushpipe,withmanuallycontrolleddevice(handlelever),conforming toIS:7231,withallfittingsandfixturescomplete,includingcuttingand making good the walls andfloors wherever required :W.C. pan with ISI marked white solid plastic seat and lid	1.000	Nos.	4565.40	INR Four Thousand Five Hundred & Sixty Five and Paise Forty Only
1.14	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: Cement mortar 1:6 (1 cement : 6 coarse sand)	20.720	Cum	5322.15	INR One Lakh Ten Thousand Two Hundred & Seventy Four and Paise Ninety Five Only
1.15	Providingandlayinginpositioncementconcreteofspecifiedgrade excluding the cost of centering and shuttering - All work up to plinth level :1:2:4(1cement:2coarsesand(zone-III)derivedfromnaturalsources:4 graded stone aggregate 20 mm nominal size derived from natural sources)	15.360	Cum	6490.90	INR Ninety Nine Thousand Seven Hundred and Paise Twenty Two Only
1.16	Earth work in excavation by mechanical means (Hydraulic excavator)/manualmeansoverareas(exceeding30cmindepth,1.5min widthaswellas10sqmonplan)includinggettingoutanddisposalof excavatedearthleadupto50mandforalllift,asdirectedbyEngineer-incharge. All kinds of soil	53.480	Cum	128.05	INR Six Thousand Eight Hundred & Forty Eight and Paise Eleven Only
1.17	12 mm cement plaster finished with a floating coat of neat cement of mix : 1:4 (1 cement: 4 fine sand)	121.000	sqm	284.75	INR Thirty Four Thousand Four Hundred & Fifty Four and Paise Seventy Five Only
1.18	Demolishingbrickworkmanually/bymechanicalmeansincludingstackingof serviceablematerialanddisposalofunserviceablematerialwithin50metres lead as per direction of Engineer-in-charge. In cement mortar	8.250	Cum	1194.45	INR Nine Thousand Eight Hundred & Fifty Four and Paise Twenty One Only
1.19	Chequerred precast cement concrete tiles 22 mm thick in footpath & courtyard, jointed with neat cement slurry mixed with pigment to match the shade of tiles, including rubbing and cleaning etc. complete, on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 coarse sand). 11.20.2Medium shade pigment using 50% white cement 50% Grey cement	142.250	sqm	942.95	INR One Lakh Thirty Four Thousand One Hundred & Thirty Four and Paise Sixty Four Only

1.20	Providingandfixingprecoatedgalvanisedironprofilesheets(size,shapeand pitchofcorrugationasapprovedbyEngineer-in-Charge)oftotalcoated thickness0.50mm(basemetalofminimum0.45mmthicknesswithtotal coatingthicknessof0.05mm)withzinccoating120gramspersqmasperlS: 277,in240mpasteelgrade,5-7micronsepoxyprimeronbothsideofthe sheetandpolyestertopcoat15-18microns. Sheetshouldhaveprotective guardfilmof25micronsminimumtoavoidscratchesduringtransportation andshouldbesuppliedinsinglelengthupto12metreorasdesiredby Engineer-in-charge. Thesheetshallbefixedusingselfdrilling/selftapping screwsofsize(5.5x55mm)withEPDMseal,completeuptoanypitchin horizontal/verticalorcurvedsurfaces, excludingthecostofpurlins, rafters and trusses and including cutting to size and shape wherever required.	142.250	sqm	571.00	81224.75	INR Eighty One Thousand Two Hundred & Twenty Four and Paise Seventy Five Only
1.21	Structuralsteelworkriveted,boltedorweldedinbuiltupsections,trussesand framedwork,includingcutting,hoisting,fixinginpositionandapplyinga priming coat of approved steel primer all complete.	222.860	Kg	92.55	20625.69	INR Twenty Thousand Six Hundred & Twenty Five and Paise Sixty Nine Only
1.22	ProvidingandlayingAPP(AtacticPolypropylenePolymer)modified prefabricatedfivelayer3mmthickwaterproofingmembrane,blackfinished reinforcedwithnon-wovenpolyestermattconsistingofacoatofbitumen primerforbitumenmembrane@0.40litre/sqmbythesamemembrane manufactureofdensityat25°C,0.87-0.89kg/litreandviscocity70-160cps. OvertheprimercoatthelayerofmembraneshallbelaidusingButaneTorch andsealingalljointsetc,andpreparingthesurfacecomplete.Thevital physicalandchemicalparametersofthemembraneshallbeaunder:Joint strengthinlongitudinalandtransversedirectionat23°Cas650/450N/5cm. Tearstrengthinlongitudinalandtransversedirectionas300/250N.Softening pointofmembranenotlessthan150°C.Coldflexibilityshallbeupto-2°C whentestedinaccordancewithASTM,D-5147.Thelayingofmembraneshall begotdonethroughtheauthorisedapplicatorofthemanufacturerof membrane: 3 mm thick	405.840	sqm	469.25		INR One Lakh Ninety Thousand Four Hundred & Forty and Paise Forty Two Only
1.23	Grading roof for water proofing treatment with ementconcrete1:2:4(1cement :2 coarse sand: 4 graded stone aggregate 20mm nominal size)	15.000	Cum	6616.35	99245.25	INR Ninety Nine Thousand Two Hundred & Forty Five and Paise Twenty Five Only
1.24	Providingandfixingwhitevitreouschinaflatbackorwallcornertypelipped fronturinalbasinof430x260x350mmand340x410x265mmsizesrespectively withautomaticflushingcisternwithstandardflushpipeandC.P.brass spreaderswithbrassunionsandG.lclampscomplete,includingpaintingof fittingsandbrackets,cuttingandmakinggoodthewallsandfloorswherever required: One urinal basin with 5 litre white P.V.C. automatic flushing cistern	2.000	Nos.	4257.55	8515.10	INR Eight Thousand Five Hundred & Fifteen and Paise Ten Only
1.25	Providing,hoistingandfixingaboveplinthleveluptofloorfivelevelprecast reinforcedcementconcreteworkinstringcourses,bands,copings,bedplates, anchorblocks,plainwindowsillsandthelike,includingthecostofrequired centering,shutteringbut,excludingcostofreinforcementwith1:1.5:3(1 cement:1.5coarsesand(zone-III)derivedfromnaturalsources:3graded stone aggregate 20 mm nominal size derived from natural sources).	1.170	Cum	8356.10	9776.64	INR Nine Thousand Seven Hundred & Seventy Six and Paise Sixty Four Only
1.26	SteelreinforcementforR.C.C.workincludingstraightening, cutting, bending, placing in position and binding all complete upto plinth level. Thermo-Mechanically Treated bars of grade Fe-500D or more.	140.400	KG	75.85		INR Ten Thousand Six Hundred & Forty Nine and Paise Thirty Four Only

1.27	FinishingwallswithPremiumAcrylicSmoothexteriorpaintwithSilicone additives of required shade Old work (Two or more coats applied @1.43Ur/10sqm) over existingcement paint surface	595.000	Cum	83.65	49771.75	INR Forty Nine Thousand Seven Hundred & Seventy One and Paise Seventy Five Only
1.28	Paintingwithsyntheticenamelpaintofapprovedbrandandmanufactureto give an even shade : Two or more coats on new works	270.680	sqm	99.90	27040.93	INR Twenty Seven Thousand &Forty and Paise Ninety Three Only
1.29	DemolishingR.C.C.workmanually/bymechanicalmeansincludingstackingof steelbarsanddisposalofunserviceablematerialwithin50metresleadasper direction of Engineer - in- charge.	6.600	Cum	2060.50	13599.30	INR Thirteen Thousand Five Hundred & Ninety Nine and Paise Thirty Only
1.30	ProvidingandfixingChlorinatedPolyvinylChloride(CPVC)pipes,having thermalstabilityforhot&coldwatersupply,includingallCPVCplain&brass threadedfittings,includingfixingthepipewithclampsat1.00mspacing.This includesjointingofpipes&fittingswithonestepCPVCsolventcementand testingofjointscompleteasperdirectionofEngineerinCharge.Internalwork - Exposed on wall 25 mm nominal dia Pipes	30.000	Mtr	331.50	9945.00	INR Nine Thousand Nine Hundred & Forty Five Only
1.31	ProvidingandfixingChlorinatedPolyvinylChloride(CPVC)pipes,having thermalstabilityforhot&coldwatersupply,includingallCPVCplain&brass threadedfittings,includingfixingthepipewithclampsat1.00mspacing.This includesjointingofpipes&fittingswithonestepCPVCsolventcementand testingofjointscompleteasperdirectionofEngineerinCharge.Internalwork - Exposed on wall 20 mm nominal dia Pipes	45.000	Mtr	259.05	11657.25	INR Eleven Thousand Six Hundred & Fifty Seven and Paise Twenty Five Only
1.32	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 : 15 mm nominal bore	10.000	Nos.	376.95	3769.50	INR Three Thousand Seven Hundred & Sixty Nine and Paise Fifty Only
1.33	ProvidingandfixingC.P.brassanglevalveforbasinmixerandgeyserpointsof approved quality conforming to IS:8931 :15 mm nominal bore	10.000	Nos.	434.40	4344.00	INR Four Thousand Three Hundred & Forty Four Only
1.34	ProvidingandfixingG.I.pipescompletewithG.I.fittingsandclamps,i/c cutting and making good the walls etc. Internal work - Exposed on wall : 50 mm dia nominal bore	60.000	Mtr	730.25	43815.00	INR Forty Three Thousand Eight Hundred & Fifteen Only
1.35	Removingdryoroilbounddistemper,waterproofingcementpaintandthelike byscrapping,sandpaperingandpreparingthesurfacesmoothincluding necessary repairs to scratches etc. complete.	734.390	sqm	15.25	11199.45	INR Eleven Thousand One Hundred & Ninety Nine and Paise Forty Five Only
1.36	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
Total in Figures						INR Thirteen Lakh Forty Thousand Two Hundred & Forty Five and Paise Fifty Three Only
Quoted Rate i	in Figures		Select		0.00	INR Zero Only
Quoted Rate i	Quoted Rate in Words INR Zero Only					